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What is the molar mass of the gubstance:
Which has more atoms; 1.0 8 of hydrogen 0T 1.0.gof
carbon?
b, How much sulphuric acid (H,S0,) can be obtained
from 5 kg of pure sulphur (8g)?

4. Two flasks A and B of equal capaci i
’ pacity contain 10 g of
oxygen and 10 g of ozone (O4) respectively. Wlfich

flask will have more numby

; er of O ;

one will have more number of molit:éiis r?.Ild which
es’
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A complex of iron containg 48 204

6% i
out the number of iron g4, ©iron by magg. Mnd

ms ;
8 in 5,00 g of thi
N

®

complex.

j What mass of CO, will con,

. i
atoms as are contained in 20 N same Number of
g

of OXygen?

What mass of carbon ig Present in 1
*SeNnt in 47‘2 g of

potassium ferrocyanide?

Calculate the number of water molecy
” iohi ules i

of water weighing 0.05 g. If the drop e:ﬂ ina \’lrn.p

one hour., how many water molecules lo aporat'es in

surface in one second? ave the liquid

Two flasks of equal capacity contain NH

gas respectively under similar condits 3 and SO,

flask has onditions. Which

(i) more no. of mole, (ii) more :
2 ma;

more number of atoms, ss of the gas, (iii)

10.

{1/. Find out number of hydrogen at g
/ BUCIUSE (CI2H22011)- oms in 3.42 g of
Which of the following weighs the most?

2.
(i) 20 g of iron (i) 0.1 gram-atom of silver

(iit) 5 gram-atom of nitrogen
(fv) 3.01 x 10?2 atoms of sulphur.
= 108) that

13. Calculate mass of silver (at. mass =
contains same number of atoms as are present in

5.6 g of iron (at. mass = 56).
/14. What is the mass of one u (unified mass) in gram?
/}5. Calculate the number of molecules of hydration and
number of Cl atoms in 107.0 g of barium chlorate,
Ba(ClO,), . H,O. (At. mass Ba = 137).

16. 0.005 cm thick coating of silver is deposited on a
plate of 0.5 m? area. Calculate the number of silver

atoms deposited on the plate. Atomic mass of Ag is
108 and its density is 7.9 g con™.

17. What volume of carbon tetrachloride (CC1y) having

25 (] atoms?
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density 1.5 g cm™ contains 1 x 10

of ¢




